EREREICHBITIFR26FEHFRBARTFHEICONT

TRi26FE RELAEXERNBERTE HIEER

25FE 26FE X BT £
LFE BEEX 1 imAE

5323 (8| 7,148 {E%E |+ 1825 fBREE

(6| B HEE
1,282 HARE)

I, — R 1,302 & | 1,516  fsRE |+ 214 famE

(Ob | B e
30218 [FEE)

1,017 f8 | 1,229  fsmE |+ 212 (R

(Ob BT
28 THEFIFEE)

H, TRX KRR 3,082 f& | 4,374  fsmE |+ 1,292  fsR

(b, B e
980f= [ )

EXBRMERTE
(RIEFRMNBERTHE)

o5, BHEEE R

2B, B HARKERAE WA &5 112 & 350 fERE |+ 940 (o

X MHETLADRER, BN —HELRWGEERHD,

85 - X D E R E

OEE-HKHDEEDONMEEZRILEEREBLREL. HEBDOARIZEHY
ANENS BOFEFEICEWTEROMMRIZERYVBATUL,

OMAT, BARREIRIILF—PEEBS BIZE, ITtX 1) TREEICET
BEEMLTMERRE -RIEFHRIEOMTITIZEICKY  BEEEEDEERE
Wo=—EDREFNRENFE K MICREIRT IIREZEZ . D EXE
H-ERASIHEZR5,

-+ BB RN - L P AR i 2 1258 (8718 M)
* PERSHHC IO & P T RE = L — A JEBR L AR RE TR AL

16/EM (91&H)

- 1B BRI A RIC T FE AR 2L S i 2 81 M Cari)
- WALEBLEAICE T HEEA L7 IITE 2P - M

FE P g - Rt 2 5EHM (5&HM)

B

B A B REEORENDHEELEST

I o () RNIXBEEFHEEE

OEEHIFRIET S
Ol B ABEE | |TREN-EBEHIGORLEICR I T-MERREERET S,
MEERQM@EFG DM
- RKREREEBLTHEFEM S - AT LSRR F 3 A3ME M Goril)
- IRHEARIEIRE - ZWZBLOT- O ORISR NS FE  60EM GIiFl)
- TRy MR B RS - B AR 30(EM (24/2M)
(2)0)—2 - BHENLEIRILXT—FHDOER
* RRT -z I AR T e =/ b 60{= M (20{EH)
* AR ATRE T R L — HK - s SR B B 228 (111/2M1)
K HHTI A RS R R B S 611EM (411/EM)
* KA A B EL AT ST — 2 — R EA R T BR
301E M (30{EH)
TARLF — BRI A T e T A 40 M CGIri)
SR RLE T AR R=~ T 7 ) 258 M (7{5H)

() ZL -FRTREMNGIHKSA L ISOEE

- AT MRS R S OSSR E XIS AT AR ey = /R
A1EM GIr)

o WA S BEIEHER S BR T AT DFSEB RS - SERE T e =/ 10(E M GIiFl)

() REESOITHMEFIR TR MBS DRE

 SRITEBH AL LTb O S0 EA T 0 S T N 455 H (F)
TR ALNT L AR B g 51 H CoTAf)

QFZFERIMA /R—LaV BRIBOE (R

OHEAEDA/R—23V AT LEREHSE D=0, EFEDEH - FT4HE
HEDRIEICERYED.

© WFFEBA LA T — SR 30f=H Crk)
- EEFHEEEEHIE T L LR T T L SRS 5{EHM (5fEHM)

- R&DBLHI DYLFE
- HHIREOE - B W E OB DT D ORI EBEE T OMF (103 A)

EMNEDEN-FHiTOERREDHLE
OEAEDEW M hEBNTIZICERT 56, BIOEFICEHLET-
MREAR-RAEZFITOEEDIC, B GEFIEE LT ET D,
- [EBROFZERFE - FERE T Y = Tk 252 M (20{EH)
- HRIKAY 722 [E BREE HE DO JE S 64f=HM (17/5H)

F A BHEIIE 7 2 = 7 b (RRPE - SORHE DS F T,
AR e D L E TR B D AT I |



